.................................
R

2024
G
e 7 G2 15 1472 ] [q0f& : 100
g :
Q) WY& 15 Fre Wt B ye.qy g3 & forg R 1
Gy IT-97 H FT A 5 &
i) e st &
Gu)  FOF NI & IRV F LT Iokg fargr & 15 399 T @e 56 FH 8
w Y% 3% 3% agE T
(vi) T4 5 & JRAT BUAT 3K 37 7o 1 HEY |
wii) T I T W &, I WG T gy FAC |
i. &% g il |
Yo gue @ ag e gAeRt ol stgfer § fafaw |
(%) aRATH o A R M AZ- AR A @A+ DP-74 B 1
G A | Gi) 34
(iii) 1 (v) I-A
() jcoszxdx &1 HH 2 1

(i) %Sinix+£+€“’ (i1) —%sinzx+§+c

(iti) cosZx —sinx +¢ o (iv) —%sin2x+§+u
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A A

(M) —i.is ;; - ;z 1 W= B
i 1
(i) =1

a2y (Y Ty=0
(%) mmﬁmg[ﬁ%ﬂ%[a%% ﬁiﬂ‘ﬂ‘@wﬁ;

(i) ¢
(iv) 2

dx
M 2 ) 3
Gii) 6 (v) 5
(8) =R A={a,b.cl,B:iZ,&‘iL?hAﬁBRWﬁ‘ﬂ:
@ (e, 2), (e, 3),®,3), ¢ 4 W g, 3), (g, 2), 5, 2), (c, 4))
(i) ((a, 3), (b, 2), (c, 3)) @) {(a,2), , 4), (b, 3), (c, 4}
2. @t wug $ife .

(%) tan™!(V3)_ secd (_ 2) 51 oW T FIfMC |

(@) Wﬁﬂﬁﬂzi+}+£ﬁm;—4.?+?~g TS &, o A F7 7 719 DT |
(M 3R PA) < 06, pB) = 0.3 3R PANB) < 018, @ pBlA) 71 7 710

Ff5w |
(@) 2. Wg
0z = g T N & P |

T0 -3 0
(¥) ?Tfixﬂ---L 5J;x-y=[ 0 _3J,ﬁxﬂmy§iﬂﬁmiﬁﬁm

3. Fﬂ?@'ﬂgﬁﬁ'ﬂ:

(=) uﬁ.&:ta,b,cjam,z:{a,ﬁr}%,a’mﬁaﬁwﬁﬁa‘mmsﬁ
mmmtbijmtiue)mﬁﬁﬁwmﬁml

(@) TR y=AcostsBsine A gt fs 9 2aym0 )
dt
() e o whew & o b ¥ d @ pa, A g A
sin(g]=é|3wg[.

() f% A6, - 2, - 5) 3 190 awh a1 afew ra?lﬁ,;-zf*zi}%aw%mm
Friia geftemor yra i -
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4  §W BT AT :

oF ﬁmm%ﬁﬂﬁwﬂﬂsmt&zrﬁﬁr”mh

2
(|) jsingxir Hmm%q| 2

W) TR TRy WA A R g i . A G TR R, 0 4 5
& T §eY ¢ | 2

‘J/‘q) Qﬁ;.gﬁm?aﬁﬂﬁﬁ(:+g+?=ﬂ%*a ;.3+3.?+?_;
%1 AF 714 T | 2

5. #H @vs difau
AN s

(%) aﬁ£+?=1aﬁtﬂmmwma€rﬁq! 5

/@) T < g T AN fe gred 6 2 990 6 T BT ATES L 5
(m) fag Hifgu. 5

; x y z
{ x? }'2 2 =(x-y)(y-2)z-x)(x+y+2)
Ey+z zZ+X X+y

(7) et faf g e TR goen #1 fefafie ogat

o x+3y<60, x+y=>220, x<y, x20, y20
F A z = 3x + 8§y B W a4 AfrFay WH Fq HIT | 5
r|.r_-2j x#2 :
(8) 3 fry = { x-2 TU N Bem o x = 2 W WA al
0 x=2
FAgFeH T &1 g hifa | 5
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6. &% wvs Hfym .
) 3w (o 0 2 =y T O P

(@) w fraw & so0 fradl & (@ 20 § | ox @ 2 B 20% T
T X113 v § | o g T O oy § afk e XU F G
2, 35 Wiliyear @ Hifer |

183
(m ‘IEA—[:L 4 3}& g AR 4., cadjA = |A|.L

13 4
(%) %%%NxmqwﬂRﬁ(m}R(c,d)@ad:bcgmmziiiﬂal

A A 4 A
(3) %maﬁ?’=;+2}_4£+u2£+3J +6k) T
o -'\ A A A "H' 6."
F =30 +3] ~5k +p(@2i +3] +6k) F 7wy 3w g Hift |

7. ﬁiwwﬁﬁq

(%) s faf & Wew e fer 3 & Hif .
—x+3y-22=3
3x+2y+32=5
-2t+y+z=-4

2 0 -
(@) WEQEA=Ii5 1 Dl,aﬁA-lmﬂﬁQl
01 3

8. #Wwﬁﬁq

nf2

(®) ) Jtanx

Jtan x +.feot x

dx %1 FH T4 Hifaw |

(i) foarg Sifse -
nf4d
j log (1 +tanx)dx = % log, 2

1+ms x

X
J x 8inx dx 19 1 B |
0

324 (EY) T

www . prachandprayash.com



https://prachandprayash.com/

0. i g@ WU AL

(%) owe WIFCT (L4 yd) gy _on-ly - x)dy R G ELN .
(@) () TR coSY=F08(asy) gy cosa ¢ 1, A G FIAC &
dy cos’(a+y)
dx  sina 4
i) AR y=(in 0=z B dy o AR y
dx
(English Version)
Instructions :

(i) First 15 minutes time has been allogtoq for the candidates to read the question paper.

(ii)  There are in all nine questions in this guestion paper.

(iti) All questions are compulsory,

(iv) In the beginning of each question, the number of parts to be attempted has been clearly
mentioned.

(v)  Marks allotted to the questions are indicated against them.

(vi)  Start solving from the first question and proceed to solue till the last one.

(vii) Do not waste your time over a question you cannot solve.

1. Do all the parts.
Select the correct alternative of each part and write it in your answer book.

(a) IfAisasquare matrixand A2=A4, then (A +D)%-74 will be: 1
(1) A (1) 3A
(i) 1 (v) I-A
(b} The value of jmsgxdx will be : 1
) %sin2r+£+c Gi) -%singﬂ% -
(iii) cos?x—sin?x +e (iv) - i—sin 2 + % e
A A AA A A )
(¢} Thevalueof —i.i + j.j - k-k willbe: I
(i) 1 (i) 0O
() -1 (iv) 2
; Jr-4.‘.\"?'_? i dy "}5 .
(d) The degree of the differential equation QtFJ + (;};+ +Tv=0 willbe: 1
x> Ldx )
i 2 () 3
(iii) 6 (ivi 5
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s 4, then the function from A to B will be :
! G} ((a, 3), (@, 2),(b, 2}, {c, 4)}
(v)  {(a, 2), (5, 4), (b, 3), (c, 4)}

(e} IfA=la b, c),B=12
M {a 2) (a9 6.3 €
(iii) {(a, 3), (b, 2), (c, 3)

2. Do all the parts : 19
(a) Find the value of tan~! (/3) - €€ . ' .
(b) Ifthe vectors 27 + J + & and i -4/ * Mk are perpendicular, then find
the value of A.
© If PLA)= 06, P(B) = 03 and P(A N B) =018, then find the value of P(BJA).
L g B
(d)  Find the the general solution of —2 = “ o -
70 -8 9 then find the value of x and y.
(e) Ifx+ys= Wi T '
3. Do all the parts :
(a) IfA=1la bclandB=1{a f 7h then find the number of functions and
number of bijective functions from B to A. https://www.upboardonline.com
d2
(b) If y=Acost+Bsint, then prove that Eg+y = 0.
M A .
(¢) If the angle between the unit vectors a and b is 6, then prove that
. (@ 1% 0 &
—l==la-2b]l
sm{z] 5 | a |
(d) Find the cartesian equation of the line passing through the point
A A L
A(3, - 2, — 5) and parallel to the vector 31 +2j —2&).
4. Do all the parts :
(a) Find the interval in which the function flx) = 3x% - 3x* - 36x + 7 is
increasing.
al2
(b)  Find the value of I sin® x dx.
-xi2
(¢) If Ry and R, be two equivalence relations in a set A, then prove that
RyNRyis also an equivalence relation in A.
@ If i : b and ¢ are vectors and o b Fc' = 0, then find the value of
;-54"3. ;:"'-;of:
324 (EY) 6
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5. Do all the parts :

2 2
(a) Find the area of =1,
he Part inseriped by the curve oz e 5
b) Find tw : i '
v m;imu;numhers Such thyy eir sum is 6 and the sum of their cubes ig
; 5
(c)  Prove that: i
x y 5
:x:2 y2 2 ) (x+y+ z)
2 | <y -2 -
Y+z z+x X+y
“ intiot];e n:iinimum and magiym value of L.PP z = 3% + 8y by graphica]
el un .
" or the fol]ow-mg constraints :
x + 3y < 60, X+y220, y<y x20, ¥20 5
|x~2 |
x#2 v il
) I flw=qx-2 is defined, then check its continuity and
0 x=9
differentiability at x =9 5
6. Do all the parts :
(a)  Solve the differential equation (x + 3y2) ? = 5
x
(b)  There are 500 students in a school in which 230 are boys. It is known that
20% boys are studying in class XII. Find the probability that a randomly
chosen student is a boy and is of class XII. ]
1 33
() IfA=|1 4 3|, thenprovethatA.adjA=|A|.L 5
13 4

(d)

(e)

324 (EY)

Prove that a relation R on N x N is defined as (e, b) R (¢, d) < ad = be is an
equivalence relation. 5

Find the shortest distance between the lines
=¥ A N A A .‘\ A
r=i+2j -4k +M2i +3j +6k)and

A A

L A A A A
P =3i +37 -5k +u(2i +3/ +6k).

(9]
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7. Doany one part :

(@)  Solve the system of linear equation® bY matriy method :

-x+3y-22=3
3x+2y+32=5
~2ct+y4z=-4
2 0 -1
(b) Find A-L.if the matrixA = |5 1 g
0D 1

Do uny one part :

ri2
: Jtanx
(a) (i) Find the value of ‘[ -x-"'

> i =4
0

(1) Prove:

t/d
| log, (1+ tanx) dx = %logeﬂ.
0

n

(b)  Find the value of j L

J 2
0 1+cos” x

9. Do any one part :

(a)  Solve the differential equation (1 + y%) dx = (tan"! y = x) dy.

(b) (i) Ifcosy=xcos(a+y)andcosa =11, then prove that 8

Gi) If y=(sin2)**"%, then find %‘*’_ ,
X

324 (EY) 8
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